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No % HERFRSG BRiR% e EH =)= mHLL
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1 EHE E1R% s~ 2 |EJCT 18,600 87,700 90% 51,900 60,800 85% 26.700 26,900 99%
2 BAR FEA BE~EATHE 67,000 76,300 85% 49,200 57,200 861% 17.800 19,100 93%
3 BAR FEA BHE~SFILRT—F 57,700 66,300 87% 41,200 46,500 89% 16,500 19,800 83%
4 BAR FIASEA I % ~ B EICT 44,100 53,800 82% 22,700 29,900 76% 21400 23,900 90%
5 BAR EIABSBEE B8~ £ HERICT 105,900 119,800 88% 62,500 80,900 7% 43400 38,900 112%
6 BAR E23HAR AR~ T 60,600 69,900 87% 48700 55,100 88% 11,900 14,800 80%
2 1T B2 —EmUCT~EETE 63,000 72,100 87% 40,800 47700 86% 22,200 24,400 91%
8 I8 R i EERT—F~BYE 39,200 40,300 97% 21,800 28,600 76% 17,400 11,700 149%
9 e R . — 41,100 48,500 85% 26,500 33400 79% 14,600 15,100 97%
10 e R E S —— 18,800 21,700 87% 15,300 17900 850% 3500 3,800 92%
11 Iz B2 12 CIEEEBIRE HERF ~ TIBEEAE 19,200 20,100 96% 13,600 15,000 91% 5,600 5,100 110%
12 =ER EIAFEVERE HEEE s 78.200 88,900 88Y% 42,400 51,200 83Y% 35,800 37,700 95%
13 =ER EIAB 2 B~ BBk 35,400 47,000 75% 12,200 17,400 70% 23,200 29,600 78%
14 =ER E23H AR e~ 67,400 71,500 94% 42,100 47,200 89% 25,300 24,300 104%
NEXCO £5t 55,400 63,100 88% 35,100 42,100 83% 20,400 21,100 97%
15 BHE 12 {55 fE-2)1| 52,500 54,000 97%
16 BHE 2B m L ma-EE 47,000 48,400 97%
17 BHE IEASE BR-S st 80.300 85,000 94%
18 |4 | BHIR 1B HER AEi-EBiE 31.600 43300 87%
19 BHL Jp— FEZBE 44,500 46,300 96% b7 A ICEHTERIEREL U
20 BHE 6EEA - B AT 58100 59,900 97%
21 BHL 1SS Y G e 52,900 54,700 97%
22 EHR 165—=8% —B- B 65,700 58,000 113%
LhERR K5 54.800 56,200 98%
RRE SBAKE 55,200 60,600 91%




